90° hybri

omega = 2 * 3.14159 * 100e6

20=50 -
L = Z0/omega g
C = 1/(Z0*omega)
CAP
PORT IND ID=C6 IND
p=1 Ib=L1  C=CF ID=L3
Z=50 Ohm L=LH L=LH
R be
l l PORT
P=3
Z=50 Ohm
o caP | CAP |
CAP ID=C1 ID=C2
Ib=c5 C=C2F C=C2F
C=CI2F
PORT IND IND
P=4 ID=L2 ID=L4
7=50 Ohm jj L=L H L=L H E
- L T
PORT
P=2
CAP Z=50 Ohm
Ib=c3
C=CF







Resistive power divider

Z0 =50
RES
ID=R2
R=Z0/3 Ohm
— L D—<]
PORT RES
P=1 ID=R1 PORT
Z=50 Ohm R=20/3 Ohm pP=2
Z=50 Ohm
DD - =
RES
ID=R3
R=20/3 Ohm
—m D D—<]
PORT
P=3

Z=50 Ohm



Lumped element Wilkinson

PORT
P=1
Z=50 Ohm

f=100e6
70 =50
L = Z0/(2*3.1415*)

C = 1/(2*3.1415*+20)

CAP
ID=C3
C=2CF

IND
ID=L1
L=LH

IND
ID=L2
L=LH

f

power divider

CAP -

ID=C6

C=CF

O D_<]

PORT
P=3
Z=50 Ohm

RES

ID=R1

R=2*Z0 Ohm
PORT
P=2

CAP Z=50 Ohm

ID=C4

C=CF




Low pass filter

5th order Butterworth, fc = 33MHz

IND
ID=L1
L=390.2 nH

ml W ml &
L L L 4

J

CAP
ID=C1

C=59.6 pF

IND
ID=L2
L=390.2 nH

Wmm
| E—

CAP
ID=C2
C=192.9pF

T

[l
=

A

B

CAP
ID=C3

C=59.6 pF

PORT
P=2
Z=50 Ohm



